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(b) What are intermediate targets?.:~J;~tically examine 
the rate of interest and mo'n~y :-.,:.;gg,t.igaies -as 

, ~ .... .... . . ,. .. ~ 
intermediate targets. 

( c) Derive and explain the following: Deposit multiplier, 
currency multiplier and complete money multiplier. 

(9,9) 

(31) ~ qf{q:i~-91 cliT ~~ ~ tt+l~l~~I ~ 9Rcfi~'11 

cfiT ~ ~ ~ ~ ~ c8 cfiT 'i_cllj+ll.-t ~ 

Wilm~~ t? 

(~) ~~~ q'lff t? ~ ~~ cfi'~~~~ ~' 
tR ~ cfiT 01lct\-i1.-tlflicfi ~ ~I 

(tt") f.-t~GIR9d ~~~~~,~~ ~ 
1i1'1tR~I 

[This qu · /· aper contains 8 printed pages.] {_ V 
·\'~fl'.;'\~:._::~.-~~.) 2C, f 2... 2...0 2_, 3 M 
"'' ,· " " Y R II N :.._.,.:1 ,.,,: ·:~~, our o o . 
t,t ---~·<'>,<' \ fi'; 

Sr. if.\~r"Questjfuf aper : 2160 G 1;," -· .. · s 
')~~ J' --.,~ ~- ~- .. -, '•".,; 

Unique Pa~hode 2274002005 

Name of the Paper 

Name of the Course 

Semester 

Duration : 3 Hours 

Money and Banking 

Generic Elective 
Economics 

III 

Instructions for Candidates 

Maximum Marks : 90 

l. Write your Roll No. on the top immediately on receipt 
of this question paper. 

2. This paper has 8 questions, out of which 5 have to 
be done by the student. 

3. Each question is of 18 marks. 

4. Please attempt all parts of a question in one place. 

5. Answers may be written either in English or Hindi; 
but the same medium should be used throughout the 
paper. 
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(e) List three monetary tools that RBI can use to 
achieve its monetary targets. 

l. ~ >fR - cP-f cfi ~ 'ffi "3i'R ~ ~ ~ BlR 1R 3ltRT 
3lj <;h "1 i cfi ~ I 

(6,6,6) 

3. ~m-, 18 3rcfi"q';Tt I 

4. ¥flTT~<fi~~cfil~'ffi~~~"cfi{I 

5. ~~-cp;fqiT"3'n(~~~~~'mlSIT~~'~ 

~~q=;r-tTUllf~'ffim-lT~ I 

1. (a) Derive and explain the concepts of deposit 

multiplier and currency multiplier. 

(b) Explain some of the factors that could lead to 

financial crisis. Explain the role of asymmetric 

information in detail in this context. (6,12) 

(3r) ~ ~ ~ ~ ~ cfiT 3lcfURUTT3TI° cfi ~ ~ 'tftTT 

~I 

(~) ~ ~ cfiRcfi1' cfiT ~ ~ "GTT ~~qi]" 

cfiRUT ~~~I ~ m ~ ~ 1J1l''lcfil{I cfiT 

~ cfiT fcffilR it ij'1$11~~1 
"' 

(3r) RBI cfi ~ ~ ~ ffl ~ cfit iNtt <fi M3 <fi 
~~~~I 
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8. Attempt and TWO questions of the following: 

(a) Briefly explain the expectation hypothesis. How 
could future interest rates be forecast using the 
expectation hypothesis? 
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(b) Explain how the Expectation Market Hypothesis 
and Segmented-Market Hypothesis are different 
versions of the Preferred- Habitat Hypothesis. 
Discuss with example. 

(~r) 1:f6 ~ fcl:l m WfiT{ Slc'lll~la ~ 9Rcti<?-t•·II 3W 
~-~ 9R'chi?-F11 ~-~ 9R'chi?-1'11 ~ ~ 

~ t1 3~16<.0I ~ 'tl'ilT ~I 

7. Attempt any THREE of the following : 

( 6, 12) 
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(a) Explain the difference between M3 of second and 
third working group report of RBI. 

(b) As information about firms become easier to 
acquire, the role of banks reduces. Explain this 
statement in the context of a security market 
hypothesis. 

(c) What is the yield curve? Explain the conditions in 
which it can it downward sloping. 

(d) According to the expectation hypothesis the yield 
curve can slope upward, downward, and be a 
straight 'line. Explain. 

2. (a) Given required reserve ratio is 10%, desired excess 
reserve ratio is 5% and desired currency to deposit 
ratio is 25%, how does an open market purchase 
of Rs. 500,000 change deposits, currency holdings 
and money stock. How does your answer change 
if the required reserve ratio rises to 20%? 

(b) Differentiate between the base rate and Marginal 
Cost of Funds based lending rate MCLR. How 
are these rates useful in monetary transmission? 

(6,12) 

( sr) '1:f6 ~ ~ fcl:l ~ ~ ~ 10% t cnfucr 
~ 3ffif&IB ~ 5% i 3W q1Tffif ~ 3m: 'iil+fT 
~ 25% t, 500,000 ~ ctT ~ ~ ~ ~ 
'iif11T, ~ ~ 3W fl Wcfi' cfiT ~ ~ ti ~ __, 

~ 3lRf&IB ~ 20% ~ ~ ~ m 3{Tq'qif 

'3"a"{~~~? 

(-ar) 3mm: G{ 3W ~ F\fu ~ 3lltlTR'a' '3UR G{ ( M CLR) 

cfi' ~ 3@{ ~I ~ ~ ~ ~ iz ~ >fqiR 
~ t? 

3. (a) Explain the legal framework that allows the 
Reserve Bank of India to function as a central 
bank. 
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(b) Money supply in India can be affected by changes 
in monetary base and/or money multiplier. Explain. 

(6,12) 

(3T) ~~~ctro!JR&fl~iifl"~~~ 

cm ~ ~ cf>" ~ ~ ffl cfiB ctr 3Ff1f@' ~ t1 
"' 

('~) ~ ~ ~ ~ ~ 3lTUR 3W/<U u.:r ~ ~ 
~ ~ ~ 'ITT ~ ti o!JR&fT ~I 

4. (a) What is reserve money? List the sources of 
changes in reserve money. 

(b) Explain the impact of financial sector reforms since 
1991 for the following sub sectors : 

(i) Insurance sector 

(ii) Non-bank financial companies (6,12) 

( 3f) ~ u.:r ~ t? ~ u.:r ~ qf«lJ-1 ~ ~ ctr 
~~I 

("~) HhlRIR<la '3'y' ~ 1R 1991 ~ ~ ITT~~~ 
ctr o!JR&fT ~ : 
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(i) ~ ITT 

(ii) ¾-~ ~ ~ 

5. (a) Differentiate between the prime lending rate 

system and benchmark prime lending rate systems. 

(b) It is not merely the number of instruments that is 

important but the number of instruments exerting 

independent effects on the target variables.' 

Explain this statement in the context of monetary 

policy instruments and targets. (6, 12) 

(3T) ~~~mwr3W~~~~mwr 
~~~~I 

c~) ,~ 3qcfi<on· ctr mr -tt ~ i '3ll +l6f9'-),_ot i ~ 
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+l6f990T t1' ~ ~ 3qcfi{OTI 3W 'R~ cf>" ~ ~ 
"' 

6. (a) Explain the problem of lemons in stock and bond 

markets. 
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